ORGANIZATIONAL DEMAND ANALYSIS - BA 315/4700- CHEW “WINTER 2009”

CHAPTER 5     SUPPLEMENT

1.   LPC ENTERPRISES MANUFACTURES V BELTS AND DISTRIBUTES THEM

      NATIONALL VIA DISTRIBUTORS.

SALES TREND= 1250+ 95X

X= QUARTERS

Y = UNIT SALES (HUNDREDS)

ORIGIN =2006, FIRST QUARTER

QUARTER ONE    75

               TWO     150

               THREE   110

                FOUR    75

A.   CALCULATE- TREND THIRD QUARTER 2016

B.    SALES FORCAST FOURTH QUARTER 2016 SHOWING THE EFFECTS OF

      TREND AND SEASONAL

C.   IF ACTUAL SALES FOR THE FIRST QUARTER 2006 ARE 380,000, WHAT

     WOULD THEY HAVE BEEN IF THERE WAS NO SEASONAL INFLUENCE?

2.   A MANUFACTURE OF BEARINGS DESIRES TO ESTAMATE SALES OVER THE

     NEXT FIVE YEARS TO THE HEAVY EQUIPMENT INDUSTRIES. LET’S DO

     CORROLATION AND REGRESSION MATES!

BEARING SALES (MILLIONS)

12 ,19,10, 12, 8, 8, 17, 13, 12 10

HEAVY EQUIPMENT SALES (BILLIONS)

30,45,10, 24,10,9,41,30,27,20

A. CALCULATION THE FIRST DEGREE REGRESSION EQUATION   Y= A+BX

B. CALCULATE THE COEFFICIENTS OF CORROLATION AND DETERMINATION

C. FUTURE SALES FOR 2006 FOR HEAVY EQUIPMENT ARE PROJECTED AT $35

    BILLION, PREPARE YOUR SALES FORCAST.
